Combined Graduate Level Examination 2021 Tier -1

Roll Number
Candidate Name
Venue Name

Exam Date 12/04/2022
Exam Time 4:00 PM - 5:00 PM
Subject CGLE 2021 Tier |

Section : General Intelligence and Reasoning




Q1 5= ador s Rrsifea R & @R AB' W @ @ &, A & @iE anghy & aqvr & e @dr sff

F TGT B

Ans

A

B

Question ID : 65497842183
Status : Answered
Chosen Option : 1




Q2 I ARG BT Ia B ol 413 & TS oRkaen & yufug (7) F R W S GFar g
YZT, WXR, UVP, ?

Ans 7 1.STN

X 2.TsM

X 3.8T™

X 4.7s0

Question ID : 65497843481
Status : Answered
Chosen Option : 1

Q.3 iy e § & a8 Se g s e s § vl (2) & =M W o1 a@dt @
I

61, 70, 95, ?, 225, 346
Ans X 1.132

X 2.182
7 3. 144
X 4.136

Question ID : 65497843687
Status : Not Answered
Chosen Option : --

Q.4 agﬁv;}qgﬁvﬁﬁm&m%wﬁw%ﬁm%ﬁﬁmmﬁmuﬁﬁmﬁ
wafta 81

68:321::525:7?
Ans X 1.792
< 2.681
/ 3.778
X 4.852

Question ID : 65497843285
Status : Not Answered
Chosen Option : --

Q5 T i CRIL ﬁ', take this vaccine' ®Y '892' forar ST %, 'vaccine protects us' Eal
263" 3R 'take us safe’ BV '593 foraT wireT 81 I DC YT ¥ 'safe vaccine’ &I 1

2
Ans X 1.85
X 2.23

o 3.25
X 4.26

Question ID : 65497843682
Status : Answered
Chosen Option : 3




Q.6 37 Rered & =9 w0 o & 7% ampla afeafea § (g & agafa 78 )

Ans

/4@

4.

)

Question ID : 65497843697
Status : Answered
Chosen Option : 4

Q7 %qw%ﬁWﬁﬁwa{&R-wmmﬁa‘rﬁa et § gUfIE (7) & RIF W 3
|Har gl

LGG, PJL, KMO, OPT, LSG, ?
Ans 7 1.PVL
X 2.0VK
/5 3. PUK
< 4.NUL

Question ID : 65497842464
Status : Answered
Chosen Option : 3




Q.8 foy T wyFT 3R sl @t eaFgd® ¢ | 98 A §¢ 6 w1 IMel g R,
Yd & 98 I U 9 7rd a2t 3 R vdia g 8, 9 @1 [ Ry e fAspuf § § v
J fFrepd Tl &1 TIfFE T TR FRa B

DY: .
woft i 3, pRIET#
Tt pRIAT, BT 21
Tt Brew, 9k g1

e

. $S Wh, HTST B

Il. 5O &S, ST I
. g ereg, 9L

Ans ;1. %aad ey | SR 1| SRV R4 B
X 2. Had (B 11 SR (1l 3R Hd g
X 3. Had (s || STERU ST B
X 4. FBE 1, 11 3R 11 T SR R B

Question ID : 65497842474
Status : Answered
Chosen Option : 1




Q9 33 A7 3@ F TIF W I DEASRT F I I T FEAlcgH T F g2 T
TR, ¥3, FH, T H AT

,(1@0
O

Question ID : 65497842690
Status : Answered
Chosen Option : 2

Q.10 Y FAf3a Be uTen &, 'DURABLES' @1 "BSVETFMC' fraT et 81 3t e o &
'FEASIBLE' &\ T forar Sem?

Ans X 1. TBGHFMDJ
/ 2. TBFGFMCJ
X 3. TBFFGMJC
X 4. TDFGFNCJ

Question ID : 65497843478
Status : Answered
Chosen Option : 2




Q1 v gag, Bl 3R 30 OF gEy & A de €1 ofy s r o Rt & g s ged
g, o = fow faar A aifegw 32

Ans X 1. 3cgT
v 2. gfayuT
XS.q’\é'
X4 qi¥es

Question ID : 65497843290
Status : Not Answered
Chosen Option : --

Q.12 7iftrdty R & 99 At WuieH &1 9a1 &1 ford g wliewu  « gl & _A ® sie
T Y G o R FHEROT Seferd g Sem|

55*126*14*520*30*5

Ans X 1.4+ — =%
K25 — 4+ %
S 3x = o+
Xd. = %+, % —

Question ID : 65497842481
Status : Answered
Chosen Option : 3

Q13 THIRARAT: TSP, Q,R, S, TR UBIT,PHF U PTHE S I U, THI AT §1 Q, S 3R
P Bt I @ 3R 98 R &1 Uil €1 R &1 T | oI T 82

Ans 1. fOar
X 2.9e
< 3.9
X 4.

Question ID : 65497842169
Status : Answered
Chosen Option : 1

Q.14 3@ 7 TP Ul § 78% i W b ok wfte 7 I wdien § 64% i urw P
Ife HiAre R Sra=T IRT TG SiehY BT G 923 §, Y Biver gRT adian # ure fpy e s
14 S|

Ans X 1.600
7 2.416
X 3.458
X 4.507

Question ID : 65497842680
Status : Answered
Chosen Option : 2




Q.15 39 T} fawe &1 ag= &3 w1 14 R T gl &1 It e & awifar & o Ha 9 3 siisht
eI | Hiv[g gl gl
1. Manuscript
2. Minor
3. Melody

4. Malicious
5. Memory

Ans X 1.4,1,523
X 21,3452
3. 4,1,3,5,2
X 41,4352

Question ID : 65497844283
Status : Answered
Chosen Option : 3

Q.16 T T AR sier-TggEl § A A it 71 forft wopw & T # SR T SR B S ORI
&R -TE BT TaT PH |
Ans X 1.PKRI

X 2. SHOL
/ 3. WEKP
X 4. FUBY

Question ID : 65497843678
Status : Answered
Chosen Option : 3

Q.17 =it Yo &1 eaFyde sreaa &Y iR fou e fawedt § § 39 T &1 aa= &«
W UyarES g (?) S RIF W 1 ghdl 2l
24 36 32
637
12224
12 54 24

Ans 7 1.18
<215
X 3.10
<429

Question ID : 65497843691
Status : Answered
Chosen Option : 1




Q.18 ?yﬁ@aﬁmﬁﬁmmﬁ%mmﬁﬁﬁﬁmﬁmﬁﬁm

9x98+14+3-19=11
Ans X 1.-3R+
K 2. 3R -
3.+ 3R x
X 4.3 x

Question ID : 65497842177
Status : Answered
Chosen Option: 3

Q.19 I fawew o1 799 FY o TR S1eR-TvE I M voR Walia & Ry voR gorT sier-
THE Ugd 3feR THE | Fafdra 81

JLT: QPG :: SGB: ?
Ans X 1.FKX
/< 2.GLB
X 3. KJIX
7 4. HKY

Question ID : 65497842669
Status : Answered
Chosen Option : 4




Q.20 R =w el # ¥ 57 NG F TGF = A T JE F FeAanE fea (2) @ wiaeid &=

Herehl £l
SIS

Ans

=lie

2.

SIS

Question ID : 65497842180

Status : Answered

Chosen Option : 2




Q21 Forriferr smpfordli & FoTs1 & R TR F AIEH M FA AR TE G FEIS F FES F oAt R
T ¥ A S W WOk Re?

£
19

Ans
£9%8%
1.

3 VvV VY
O O o O
NAAA

5 0O 0o 0

s LA A A
0 0 0 0O
NA A A
O O O 0O

xS'DEIEIEI
PV A AN
2484548

“/4'EI{IEID
V¥V VY

Question ID : 65497843295
Status : Answered
Chosen Option : 1

Q.22 T: gRa 3T, urg, f¥eY, fover, WA ok Fram, Ue e SR § 39 &g o1 8 3t die
P 99 §1 3T 3R i FHw: wg F S T¢ AR e T A IS B &, M F
'oﬁa;;;r'qggﬁaﬁaaél A, YT & ST R RIF R 967 81 YT F 91 g I
W 2

Ans X 1.fi@
X 2. FEm
X 3.9
\/4.W

Question ID : 65497842170
Status : Answered
Chosen Option : 4

Q.23 125 cm #=T I T O F A Gow W AT G WA § AR B 25 em = I o
OIS el H FT ST LN W TR A W AT R w FH R FH G G GO

Ans 144
X2 36
X3 52
X4 48

Question ID : 65497842484
Status : Not Answered
Chosen Option : --




Q.24 uw [Af3a ge Wi § ‘SALT $1 16’ & TU § Feds 91 791 € 3R ‘PICKLE’ F 36’ &
U § Ged [Sar a1 81 I ©e U § ‘PRESERVATIVE’ & f5d w0 & Heas fopar
TQm?

Ans X 1.72

2. 144
X 3.96
X 4.88

Question ID : 65497843277
Status : Not Answered
Chosen Option : --

Q.25 @qqu%ﬁm‘rﬁﬁagmgﬁqvﬁﬁaﬁ@a it & yerarad fg (7) & RIF W
I

352, 288, 252, 236, ?
Ans X 1.208

o 2.232
X 3.220
X 4.192

Question ID : 65497842476
Status : Answered
Chosen Option : 2

Section : General Awareness

Q.1 YRa # g% Py siftfFam Fafafea § | g o & wiiva fear war ar?
Ans X 1. 1967

X 2. 1952
K 3. 1959
4. 1961

Question ID : 65497843723
Status : Not Answered
Chosen Option : --

Q.2 ;%%Igw 3o A= SR & fasiar Siftfae Rgw (Dominic Thiem) fa dxr &
T PRA 872

Ans X 1. $THD
X 2. S
X 3. SER®T
7 4. ST

Question ID : 65497842715
Status : Answered
Chosen Option : 1




Q.3 i § & fea 78 o1 oy W seremarg?
Ans X 1.qdl

X 2. %

X 3. SR

4. T

Question ID : 65497842197
Status : Not Answered

Chosen Option : --

Q4 yemIwE_ AfRERI
Ans /1. HGRY

X 2.fa’Rr

X 3. AR

K 4. FRUY

Question ID : 65497842490
Status : Not Answered

Chosen Option : --

Q.5 Sast 2021 B o HATC ot YU F AR, RidaR 2020 & ofd § God R SAIG
(GDP) 3T & ¥ ¥ f33=h Fei Tl

Ans X 1.182%
 2.216%
X 3.16.9%
X 4.12.4%

Question ID : 65497842190
Status : Not Answered

Chosen Option : --

Q.6 TR T, R ST ue 3 Sra=ifya Fvd €, W v ) oisd §

Ans X 1. 7d
X 2. raf
7 3.7
XaR

Question ID : 65497842494
Status : Not Answered

Chosen Option : --




Q.7 3nfie arval @ didsdia | (ccEA) A 3manT w) R & sigey
fuor e 2021-22 F g w2t Sifrart v waet & e geas S ge (MSP) &

FE P a@ e
Ans /1. WHAA

X 2. 9rad
X 3. gaeif
X 4. DIBRI

Question ID : 65497842694
Status : Not Answered

Chosen Option : --

Qs mmmmmmmmmﬂam% Y s ofiR
F o It sififirar gRT duR far s 81

Ans X 1. grgir

X 2. 3o

7 3. Bla SRHIFZS
X 4. TR

Question ID : 65497842699
Status : Answered
Chosen Option : 1

Q9 _  <ifur w=ited s 3 e e wwel S wauifeie gur faar am
Ans 1733
X 2.549
X 3.68d
X 4.82d

Question ID : 65497842207
Status : Answered

Chosen Option : 1

Q.10 fra# QS W gy 33 arelt T B Te = T g
Ans X 1.4l

7 2. rd R

X 3. i

X 4. DI

Question ID : 65497842701
Status : Answered
Chosen Option : 2




QM YRAWPRA______ TP DI I ATS U SIBIh0l SRIHH AR far
Ans 1. 119 14 31d 2021

X 2,134 30 2021

X 3.153 18 37Ad 2021

< 4.5 9 30T 2021

Question ID : 65497842203
Status : Answered
Chosen Option : 1

Q.12 gad AT F Aad B T 6 T ST T 32

Ans X 1. 4G IRac SR IUF TG ¥ e & fiu dan dRar ol
X 2.9l Sl W ol ot U I TRiel &1 3
7 3. 9l & for UTl ofiR Tawadl 1 IUSSIAT 3R [EhT3, S Yeied gifed S
X 4. TR ST AT BT 9IR 8% 99 B et & oy siRiIvae &) erar &

Question ID : 65497842195
Status : Not Answered
Chosen Option : --

Q.13 Tt uda (Mount Tiyi) SMTUd) HRT F fre Isa # fremm?
Ans X 1. 3fifSEn

X 2. 3RBUTEd Wl
‘/3.31111%'—5’
X 4. feraraa yer

Question ID : 65497842501
Status : Answered
Chosen Option : 3

Q.14 fFafafaa d @ o 9 o te ufadf @ & w9 & fdeia o1 & fou 9l §feargy
A= 2021 # A forar /m U172

Ans 1. QNI
X 2. HaEd
X 3. dodd
X 4. 99

Question ID : 65497842512
Status : Answered
Chosen Option : 1

Q.15 TS AT JFardrs 3 TR 7R T AT
Ans X 1. fufdsn

X 2. 934
X 3. oRm
7 4. BR

Question ID : 65497842504
Status : Not Answered
Chosen Option : --




Q.16 3Ud 2021 T B fRITY F AR, FEfiEd ¥ F F9 YR F J99 69 THY 99 Ja1 33

are g At g2
Ans 7 1, SATER A0 B
X 2. 3 et
X 3. 31 ORI
X 4. Rz Ad

Question ID
Status

Chosen Option :

: 65497843315
: Answered
1

Q.17 IRTES F, Wit T 1w =

Ans 1. P%dl
X 2.fa@
X 3.9

X 4.pat

Question ID
Status

Chosen Option :

: 65497843714
: Not Answered

Q.18 fmfafaa & 9 fow af & afara sraqm sigiaw gt @) wae 81 T/ 412

Ans X 1.1943
X 2.1923
” 3.1934
X 4.1917

Question ID
Status

Chosen Option :

1 65497843313
: Answered
3

Q.19 gTaTeral P GHAT R, S AraTed) $i EHE @ g i FA ik ST a
Tafta St ufthar ot Al $1 & R 7o sl 31 et & ufuia e
Hftra o= & e wila fean wan un1 59 siftferas o Fafafea 7 A fea ad d wifva

fopam mar U172
Ans X 1. 1982

7 2. 1971
< 3. 1975
X 4. 1969

Question ID : 65497843317
Status : Not Answered
Chosen Option : --




Q.20 Us W77 ara 73 A3 ) gaeite ween ftfey, 1972 Bt ot ¥ wed TEiaw
frarma g1

Ans X 1.1l
2.1
X3V
X 4.1

Question ID : 65497843304
Status : Not Answered
Chosen Option : --

Q.21 7 Ararel #, WU F FHard) R A w1 A ve wa werd wiid far €, o s=
TR YoITel Y AoTgd $IaT 8 SR THHUT & T3 TeHP Sial 8, I8 ava uard «m
HEATI 82

Ans X 1.99H (Sebum)

X 2. 4SHT (Cerumen)
7 3. m (Colostrum)

X 4. IATAAT (Synovia)

Question ID : 65497843707
Status : Answered
Chosen Option : 3

Q.22 2020 & TR THH & fore FRaferfaa & | ford g mar ar?
Ans X 1. {0 AR

7 2. IROGAR feiara

X 3. 9l eddR

X 4. UHIR S

Question ID : 65497842710
Status : Answered
Chosen Option : 2

Q23 _ | 3iifezn & veaifer murfta T @1 T T U 1
Ans X 1. DoR|

XK 2. TR

3. SR

X 4. TSt

Question ID : 65497843701
Status : Answered
Chosen Option : 3




Q24 U A AN B g1 A I AT I A A SR BT e i e s
dTell T R YUl ¢

Ans 7 1. 3R IR

X 2. RA R

X 3. ufermE R

X 4. TIIaE I

Question ID : 65497843299
Status : Not Answered

Chosen Option : --

Q.25 1888 ® YR MBI FHivw F Fafeiaa ¥ A 5w siftd=m § wifel ga sreme a1 A2
Ans X 1.9

X 2. 7519

3. SR

X 4 @

Question ID : 65497843715
Status : Answered
Chosen Option : 3

Section : Quantitative Aptitude

Q1 o & a1 v 3 # AC 3R BD & St &1 AC i BD 3T e W E W faen §1 afy AB v
e § 3R CAEB = 36° ¥, df 4DOC & @ W S

Ans 1, 108°
X2 124°
X3 112°
X4 136°

Question ID : 65497842529
Status : Answered

Chosen Option : 1

Q2 7 ofEr g sarer 9T 3 a9 A 249,600 3T 5 gt & ¥56,000 g s ¥ wiE @ $v &7 2%
3 @i, TR Freer 76 % SNE o S

Ans 140
X212
X320
X4 8

Question ID : 65497843734
Status : Answered
Chosen Option : 1




Q.3

Ans

frifeha fererarm 30 sie & v gliem # 40 orE gErr wed e e s wr geiar g1 R o ey
GHET T WA F A9 FH @ FA 10 HF T e gl
20 7 3fAF 3o W S 9T O T QiR F §? (ERIASE ¥ U T JF FEY)

30 #& R alEn 2 O HE
10

-

S F R AY - N =

ot @ wo

] 5§ 10 15 20 25 30
cd

T H%H

X1 15%
<2 575%
<3 55%
v 4 37.5%

Question ID : 65497843750
Status : Answered
Chosen Option : 4

Q4

Ans

o o W = I e A Reanii w1 gl 3R S Seie TR & s AR asfea &
T F gee g
1% 91E AR difee 7 3egTE wY HR SEF 96 BT U 9T 1 391 &

forer aforer wiwr wpet & wsfaat sl @t &1 s geieh

|

5
1

— e W

afg weft T el B FEedl T §W GEdl F WS AE F 79 A guffan A1, &8 T B & W
Reu@s F S0 ([Seds qUie a%) F1 AT 4 g2

X1, 320
X 2.48°
X 3. 5go
V4 420

Question ID : 65497842738
Status : Answered
Chosen Option : 4




QS Tl Brisr & F0T @ AT (8x—15)°, (6x— 11)° HR(4x —100°F1 x & AT 7T FY
Ans 4 12

<218

X316

X415

Question ID : 65497843338
Status : Answered
Chosen Option : 1

Q.6 o g 3l 2 wEd 30 R F sowr w1 W gea ¥ g B 7 ameAr 3l 10 e 15 Rt F aw
e 1 T w a4 RET F wm & T 40 o6 & Ty e wEe B e W S S 9nige?

Ans X 1. -15

X2 12
X3 14
v 410
Question ID : 65497842220
Status : Answered
Chosen Option : 4
Q7 A B 3R C o freh 99 1 yRaa & Tw mawa A FA: 40,000, T48,000 3 280,000 F

e e o AER F oag, a¥ & O WAT F U0, A & @ Afe 34,000 fEeTT, B & g Adw
34,000 fAeU, et C & & Agle $4,000 fAemrer| wﬁ::a;«—orw.: ¥6,72,000 &, ar C =1 fwar (€4
) forger 32

Ans - X'1. 1,986,750
X2 1,80,480
8. 2,80,320
x4 211,200

Question ID : 65497843329
Status : Not Answered
Chosen Option : --

Q8w 97 #, ABCD % W I ¥ AC I BD w guy wr fig P w fasdfem e &)1 ufy AB =
AC 3R £BAC = 48° §, &7 £ADC & A9 feraer 7

Ans X 1.104°
w2 1140
X3 1120
X4132°

Question ID : 65497843740
Status : Answered
Chosen Option : 4




- g_.;:_[z§+3§of1§+{1§—(3—1%—2)}] T AT AT P
Ans 2
x1. 2z
-

Question ID : 65497842718
Status : Answered
Chosen Option : 4

Q10 afx 2k sin30°cos30°cot 60° = SO 3076 AREST & oy 1 r T T TR

casec?45°cosec30”

Ans 1.3
X2 6
xa 2

2
Xa 1

Question ID : 65497842230
Status : Answered
Chosen Option : 1

QM aiftem s el B9 © & wors giRdl, Yedd 12,600 F Heq & 9T §1 g 0 9 39
26% T T P § AT gEh wE W 10% F @l @ {1 g wny W e wiaed A
Eqierdl

Ans X 1. 12% T WMt
2. 5% T oM
X3 59, &hr E.Tﬁ-’l'
X 4 16% T omeT

Question ID : 65497842217
Status : Answered
Chosen Option : 2




Q.12 -2 2
I x—y+z=0 &, ar - — = @ AT AT Pl

Ans 1
X1
2
3
2 —
2

X3 —6

3

Xa _Z

2

Question ID : 65497842223
Status : Answered
Chosen Option : 2
Q.13

afg 8A5146B, 88 ¥ 9= &, &7 B4 & AT &1 &7
Ans 1. 64
X2 81
X3 12
X415

Question ID : 65497842514
Status : Answered
Chosen Option : 1

Q.14 v 2o 39 age! i TRl avRg 9T 18% Hrge daY off 249% ony Wod YA g1 Al Sew & forw avg
1 7 Aed T1,560 &, AT 3W vg F Adha o7 (] H, T A Fiew

Ans 1.2 359
X2 2,168
X 3. 2,024
X 4. 2,565

Question ID : 65497843326
Status : Answered
Chosen Option : 1




U ekt + 15K —2=0% a (k+ 1) #1 ererewes w2

Ans x1. 21
g

x2 81

2

X3 82

g

1

4 2=

[

Question ID : 65497843335

Status : Not Answered
Chosen Option : --

Q18 ;24 + 5 secd = 13 g, S 0 < A <90° &l A & AT (= #) saEvl
Ans X1, 45

X 2. 30
X3 0

V4 80

Question ID : 65497843340
Status : Answered
Chosen Option : 4

Q.17 900 km & wrr 11 6 F T @ F1 ARG WA T 2/557 A 60 kmvh Y W I fRT S &, &
a9 arr 5w e (kmvh #) & 9@ Fr osdr g7

Ans ~1.108
X2 90
X3 72
x4 84

Question ID : 65497843332
Status : Answered
Chosen Option : 1

Q.18 15 Framst &7 g 30 ¥ wafF s gwunst F ¥ 13 gt & sitwd 32 §1 9 9w & Yeuw awew
£ 3 5w ot St # & wele wedT o AW Fr 8

Ans X1, 16
X2 31
X3 34
417

Question ID : 65497844651
Status : Answered
Chosen Option : 4




Q.19 4ABC # AD, BC WX & & 3T AE, £BAC &7 WAGIHT= §| aAfE £ABC =58° HIT LACB=34° &, &
2DAE T AN FIG HIT=T]

Ans 4 190
X2 11°
X3 22°
X4 150

Question ID : 65497842228
Status : Answered
Chosen Option : 1

Q.20 wage gfF = el fig P ¥ v AWR & oY 1 s wior 30° &1 ARy AAR 1103 m SR E, &
AR & o § Bg P &1 gfr (m #) w2

Ans X1 110
X2 220
3 330
X4 115

Question ID : 65497842736
Status : Answered
Chosen Option : 3

Q21 v @fFa & 3o & 50% H w0 # 76 3R @@ F 50% F T g8 IR R 100% F & g8 =W
fom fene g @ amr g &2

Ans 1. B0% T T
X2 10% T giieT
X3 25% T oA
X4 40% A BT

Question ID : 65497842519
Status : Answered
Chosen Option : 1

Q.22 21 cm & 3R Br=ar 3R 30 om TS A v W ufeaw oF ¥ 5 mm frewr & feaw oo
Y TNl FAT AT Ty 872

Ans 1. 26460
X2 25000
<'3.32000
< 418260

Question ID : 65497844649
Status : Answered
Chosen Option : 1




Q.23 fyr=ifeg 9] WF 6 TNt F UF OEAIE F & 3T 3R =g # geler ¥ AR = 30 - =)
2017 ¥ 2018 &% W & gioRd g™ #a1 €7

100
90

Rs (dr@Y 37)

2016 2017 2018 2019 2020

Eic)

Ans X 1. 2Q
/2 25
<3 6.6
K425

Question ID : 65497842335

Status : Answered

Chosen Option : 2

Q.24 A iy B 0% @ e TEAE § R A > B ¥ st 5o o (LCM) 209 ¥ A2 - B @ A
e gremr?

Ans X 1. 351
v 2. 350
<3 372
<4 339

Question ID : 65497842717

Status : Answered

Chosen Option : 2




Q.25 frifea @) amw 9iw w=dt A, B, €, D 3k E F ganit & v @t ) s deew s et $r
e (e #) @ g 3
forw 75T | R T o 3 o AT ATy & 80% | wA AT @ JeR R §?

14

12

s

t
s
&

SATE (G )

R RS L

ol
3
1

>
-]
o
(-}
-

Ans ;1 D

Question ID : 65497843444
Status : Answered
Chosen Option : 1

Section : English Comprehension

Q.1 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

We have / not met / some of our friends / since six months.
Ans X 1.not met
X 2. We have
./ 3. since six months

X 4. some of our friends

Question ID : 65497843754
Status : Answered
Chosen Option : 3

Q.2 The following sentence has been split into segments. One of them may contain an
error. Identify the segment that contains a grammatical error. If you don’t find any
error, mark ‘No error’ as your answer.

How many / eggs were put / into the basket?
Ans 7 1. No error
X 2. eggs were put
< 3. into the basket
X 4. How many

Question ID : 65497842237
Status : Answered
Chosen Option : 1




Q.3 Given below are four sentences which are jumbled. Pick the option that gives their
correct order.

A. Schools are closed for the Christmas and winter break at this time of the year.
B. Christmas and New Year are the time of the year to celebrate.
C. All over the city, winter carnivals and Christmas bazaars lend fun and warmth in the

cold.
D. For the second time in a row, we are likely to see restrained celebrations for fear of

the pandemic raising its ugly head again.
Ans 7 1.BACD
X 2.BCDA
/< 3.BADC
X 4. ABCD

Question ID : 65497842756
Status : Answered
Chosen Option : 2

Q.4 Select the option that can be used as a one-word substitute for the given group of
words.

The examination or observation of one's own mental and emotional processes

Ans X 1. Inspection
5 2. Valuation
«” 3. Introspection
& 4. Assessment

Question ID : 65497843772
Status : Answered
Chosen Option : 3

Q.5 Select the option that can be used as a one-word substitute for the given group of
words.

A medical condition in which somebody partly or completely loses their memory
Ans X 1.Asphyxia
X 2. Anaemia
/3. Amnesia
25 4. Alopecia

Question ID : 65497843369
Status : Answered
Chosen Option : 3

Q.6 Select the most appropriate synonym of the given word.
Urge
Ans X 1.Refuse
X 2. Protest
</ 3. Appeal
5 4. Reply

Question ID : 65497842757
Status : Answered
Chosen Option : 3




Q.7 Select the INCORRECTLY spelt word.
Ans X 1. Stationery

<~ 2. Stratagy

/< 3. Statutory

X 4. Stationary

Question ID : 65497843371
Status : Answered
Chosen Option : 2

Q.8 Select the most appropriate ANTONYM of the given word.
Linger
Ans X 1. Annoy
«/ 2. Leave
X 3. Entertain
X 4. Choose

Question ID : 65497842557
Status : Not Answered
Chosen Option : --

Q.9 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select '"No improvement required'.

We might as well watch a film on TV as there’s nothing much to do.
Ans 7 1. No improvement required
/5 2. may as well as
X 3. may as such
X 4. might well

Question ID : 65497842552
Status : Answered
Chosen Option : 2

Q.10 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

As it has been raining heavily / since two hours, / the children are / at home.
Ans X 1. the children are

«/ 2. since two hours,
2< 3. at home
X 4. As it has been raining heavily

Question ID : 65497843247
Status : Answered
Chosen Option : 2




Q.11 Select the most appropriate meaning of the given idiom.
Lie low

Ans 7 1. Try not to be noticed

X 2. Fly a plane at a low altitude

X 3. Lie down and relax after a tiring day

2 4. Sit on a low chair

Question ID : 65497842559
Status : Answered
Chosen Option : 1

Q.12 Select the most appropriate synonym of the given word.
Redundant

Ans . 1. Superfluous

X 2. Ignorant

X 3. Essential

X 4. Arrogant

Question ID : 65497843364
Status : Answered
Chosen Option : 1

Q.13 Select the most appropriate meaning of the underlined idiom in the given sentence.

When | asked for an expensive dress for my friend’s wedding, my mother reminded me
that money does not grow on trees.

Ans 7 1. Money is hard earned and limited
< 2. Money grows on shrubs and there’s plenty
< 3. Money is like leaves of a tree and freely available

& 4. Money is freely available to spend

Question ID : 65497843770
Status : Answered
Chosen Option : 1

Q.14 Select the option that can be used as a one-word substitute for the given group of
words.

In exactly the same words as the original

Ans 7 1. Verbatim
X 2. Copy
X 3. Imitation
< 4. Duplicate

Question ID : 65497842259
Status : Answered
Chosen Option : 1




Q.15 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

He’s not so friendly like she is.
Ans X 1. so friendly that
5 2. No improvement required
</ 3. so friendly as
X 4. as friendly like

Question ID : 65497842755
Status : Answered
Chosen Option : 3

Q.16 Select the most appropriate option to fill in the blank.

This app is a very one for online shopping.
Ans X 1.convenience

X 2. competency
X 3. capable

<~ 4. convenient

Question ID : 65497842261
Status : Answered
Chosen Option : 4

Q.17 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The policeman asked / many people but / no one was knowing / how the accident
happened.

Ans X 1. The policeman asked
X 2. many people but
25 3. how the accident happened

«/ 4. no one was knowing

Question ID : 65497843349
Status : Answered
Chosen Option : 4

Q.18 Select the correct active voice form of the given sentence.

All the inmates were rescued from the building by the firemen.

Ans X 1. The firemen have been rescuing all the inmates from the building.
X 2. The firemen are rescuing all the inmates from the building.
< 3. The firemen rescued all the inmates from the building.

5 4. The firemen have rescued all the inmates from the building.

Question ID : 65497842745
Status : Answered
Chosen Option : 3




Q.19 Select the correct active voice form of the given sentence.

All the prize winning books have been displayed on the tables.
Ans 7 1. We have displayed all the prize winning books on the tables.

X 2. We have to display all the prize winning books on the tables.
X 3. We will be displaying all the prize winning books on the tables.

X 4. We are displaying all the prize winning books on the tables.

Question ID : 65497843352
Status : Answered
Chosen Option : 1

Q.20 Select the option that expresses the given sentence in reported speech.

The teacher said, “Asif, go and wash your hands.”
Ans X 1. The teacher told to Asif to go and wash his hands.

X 2. The teacher told Asif go and wash your hands.
#X 3. The teacher told Asif go and wash his hands.

«/ 4. The teacher told Asif to go and wash his hands.

Question ID : 65497843763
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

New cycle routes have been built in and around the centre of Birmingham and speed limits
have been (1) on selected roads. The scheme has now been in (2) for a year
and has been hailed as a (3) success. Since the new speed limits were (4) ,
the number of accidents in the area have fallen (5)

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no.1.
Ans 7 1.reduced

X 2. scaled
X 3. lessened
X 4. shortened

Question ID : 65497842243
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

New cycle routes have been built in and around the centre of Birmingham and speed limits
have been (1) on selected roads. The scheme has now been in (2) for a year
and has been hailed as a (3) success. Since the new speed limits were (4) ,
the number of accidents in the area have fallen (5)

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no.2.
Ans 7 1. operation

X 2. activity
X 3. process

& 4. agency

Question ID : 65497842244
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

New cycle routes have been built in and around the centre of Birmingham and speed limits
have been (1) on selected roads. The scheme has now been in (2) for a year
and has been hailed as a (3) success. Since the new speed limits were (4) ,
the number of accidents in the area have fallen (5)

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no.3.
Ans 7 1.great

X 2. more greater
X 3. greatest
5 4. greater

Question ID : 65497842245
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

New cycle routes have been built in and around the centre of Birmingham and speed limits
have been (1) on selected roads. The scheme has now been in (2) for a year
and has been hailed as a (3) success. Since the new speed limits were (4) ,
the number of accidents in the area have fallen (5)

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no.4.
Ans X 1. dictated

</ 2. enforced
X 3. exacted
X 4. compelled

Question ID : 65497842246
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

New cycle routes have been built in and around the centre of Birmingham and speed limits
have been (1) on selected roads. The scheme has now been in (2) for a year
and has been hailed as a (3) success. Since the new speed limits were (4) ,
the number of accidents in the area have fallen (5)

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank no.5.
Ans X 1.extremely

</ 2. drastically
X 3. desperately
X 4. terribly

Question ID : 65497842247
Status : Answered
Chosen Option : 2




